=3t

L2 =3 AIZHHIE{R] He

B I R

e H|C|2 2= 0}0| 20| LIEPL|C}.

2 g =EuUch

T
=

r
I
Iy

W HIC| 2 =282 2 MElS O|C|0{2] 0] =35} A|Zt0] &
LS 3 2 JIMAIR.
™ C}E 0|C|012| ZH0f =3} A|ZH0| EAIELICE Al 4 2 7}

4

o O
inl

T
4
Iru

= x40 =1
T =
t0

0.

=1}

iy

[T

r

ZHo{ HHE{ 2] ME{0| EAIELICE B 5 2 7HMA| 2.

o2 MEISHO|C|0]2f £H0f =3 A|ZH0| EA|E LT

—

3 HiC|

0
’
0l0

* 0| O|C|0 & =3l 0|C|o{ 2 dXste{H @ & FELICh
HIC|2 3122 WA M £20|H 2 H|C|R 2 MESlI @ E
St
Zhof HHE{ 2| M S EAlSHH " HES FELICH
CIE 0jCjofe] ZHo] =31 AlZtS EAlSIR{H HE HE GO S 8 H &5

HIC|2 3}E S HAsIH{ M S210|H 2 HIC|2 32 S MElSII @ & &+
=g

Zhof HHE{ 2| M S EAlSHH " HES S LICH

EAE 20U @

5 Ztof HiE{E| MHE EA

e o
L3

rim

o

Ir

o -
T
o

o
-
n

e AC O{RIE{7} HZE|0f

A2H ZH0f HHE{2] M 0| EAIZ| K] R2&LICH

W= :



=3t

CHEF= QI HIC|2 =3 A2
3} B ) 22 SD 2} Z/SDHC 3} = | SD 3} =/SDHC 3} = | SD 3} E/SDHC 3}= | SD 3} £/SDHC 3} =
8GB 4GB 8GB 16GB 32GB
UXP 40 & 20 ¥ 40 % 12220 % 242} 40 &
XP 122} 30 14)2F 222} 4 ) 2F
SP 122} 25 % 44 3 122k 28 % 2256 % 542} 52 %
EP 34235 % 1242+ 50 & 342} 40 ¥ 741220 % 14 %) 2} 40 &
o M| 53| AIZH2 Y o miet THEE S5 JUELICH
CHEFR{21 MX| O|O|X| o~(EH: &9 o[O|X] )
oju) A 25] 39 (W w28 |SD3}E | SD3}E | SD3}E | SD 3}E | SD/SDHC 3} E | SD/SDHC 3} =
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